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B) GoUMISL. LD&TEOMRIGLD
D) G&MO&HSILD

A) SJHIGHITES 60T
C) Qns&sssi
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101. Consider the following statements FFHD) I (31_I.ITUITI'_I_I'5._I856'0361TU4LD 9| G607

I. Light must travel from denser medium to rarer SEMELAUTEEDETUILD CILIMBSSIS.

medium. QuimmLL 1D 60)6V6) [JEBEIT

II. The angle of incidence inside_ _the denser medium a2 G0 g)ﬁ ) @IS & 1 Qu%]u_lrrﬁr

must be greater than that of the critical angle. b. LOQMG LOTHE -2 JTeCSHTLIMeUNEF

Which of the above is/are the conditions to achieve
total internal reflection?

Choose the correct option from below:

A) I only B) Il only C)Both D) None

LN60TeU(BLD HM&60)&HEHE06IE: 86160f|ULIMhIGH6T

L LISE oo &s5Heh  @QmDHa  2flsmer
o6T_S55HME e6rfl Liliesord Q& wiuLb.
I. SIS\ Umest 26555 MG 6T6T 60T

LQGSHMeuoTld 2 WIBleneud; G&Menisens el
PGHLOMG @) ([(HE6 CeUesor(HLD.

W IHTHArmfll] JoLausnEd GGsy
2 6T6M  BHlevevemld  / BlUBSHDETHET 618
QUITIBBSILD.

&6 @mha sflwner  ellLenwsd  CHiey
QSZU_IU_IG).ILD
A) I 0L (HILD

C) Qe (H)LD

B) Il LDL_(HGLO
D) 6156 LD §)6VEMI6V

102. Consider the following statement(s)

1. Article 29 provides protection of languages script and
cultural of minorities.

II. The right to constitutional remedies is enshrined in
article 32.

LNeTeuBLD SIMIE6085 (8:6iT) F5616011 885
I % 29 apeorgl, S miunesteniouileorfleor
Quomdluiluiey LOMMILD

UMSISTLEOU eUPHBIGSHIMS!.

Il SITRLIVEMIDLILIE FLL_ IS EHE S Ter 2 flemin 32
augl FHullev 2 NIFILIGSSLILIL (HETETS.

HEVTFFTISHSH 60T

Which of the above statement(s) is/are correct?
BN MG 85UN6D 618! FIflULITeTS?
A) I only B) II only C) Both D) None
103. Which Indian state unveiled the world’s first-ever
thermal battery on 6 August 20187

A) Telengana B) Andhra Pradesh

C) Madhya Pradesh D) Tamil Nadu

2018 QGEVL 6 1D CHT 2 HET (LNGHEVTEUSI
Qeuliug Fmibs GULLflenwl 6Ths OMHlev Te
Qederfluil Lgl?

A) GISHEUIRIGTEOTIT

c) LSHWL LNgCsHaFLh

B) %L'F@UW
D) SLADHTE

104. Match the freedom movement with their leaders.

Movement leaders
a. Home Rule Movement 1. Periyar
b. Mahad March 2. Raja Gopalachari
c. Vedaranyam Salt Satyagraha 3. Dr. B.R. Ambedkar
d. Vaikom Satyagraha 4. Mrs. Annie Besant

cGaUSMI6ooTLLD 2 LIL| FSHIMTRT&LD
-3. LM&LIJ.BR QDCLSET
d. 6D F&SHUIMER oL
- 4. 9Tl QLIF6OTL

a b c d
A) 4 3 2 1
B) 2 4 3 1
C 3 4 2 1
D) 3 2 1 4

105. Consider the following

I. Study of cell - Cytology
II. Study of tissues - Histology

Which of the above is/ate correctly matched?
A) I only B) Il only C) Both D) None

LlesTeu(meuen &8s 85616ofI UL MhIg6IT
. QF6L LU - 6MIEFL_L_MTeV
II. B &56r160T 4,16 - amlen@Lmeved]
GLOG6V 2_aTemaumnilev 67gl Fiflulmg QUIMBHHSILD?
A1 (DD B) Il LDL_(HGLD

@\ Tevor(hiLh D) 6T&I6)LD G)6V6DIV

106. Consider the following statement about inter-caste

marriage system of ancient Hindu society.

I. In Anuloma marriage, women of higher caste could
marry men of lower caste.

II. In Pratiloma marriage, men of lower caste could
marry women of higher caste.

Which of the above given statement(s) is/ate correct?
A) I only B) II only
C) Both D) Neither I nor 11

LILOMBISSTE) @BSI FSTLSSE0T S6uLIL| S([HLo6sor
(LPEMEMULIL um LedTeu(pLd &H(HHNSH
660U BIG6IT.
| S{EOTELLDM SN(BLOCTITSSHI6D, &I &FTH) CILIETOTS:6T
@D FTH  UEOTSHMET  H(HLETD  QFUIS
Q& METEITEVITLA.
Il NIFSGeurlom Sl(HLOETTEH60 BLD FITH) 2, 600186
o WF &FTH  CLIITSMET H(HLO60TD  QFUIS
Q& METEITEVITLA.

GLmaaMlw 9nilgemaulley (&Herlev) 61l Fiflumerg?
A1 0L (HILD B) Il LDL_(H)LD
0 @ Jesor(HILD D) @Tetor(hILD E)6V6rI6V

107. Consider the following statements

1. Isotherms are imaginary lines connecting points that
have equal temperatures.

II. Isobars are imaginary lines connecting points that
have same atmospheric pressures.

Choose the correct option from below

A) 1 only B) Il only C) Both D) None

Free Online Courses @ www.tnpsc.academy/all-courses/

Video Classes @ YouTube/tnpscacademy



www.TNPSC.Academy Group 2 & 2A - 2019 Test Series | Test 31 — Mock Test 1 Page |7

LN60Teu(BLD S M G60)85 856068 &6160{IL|MHISH6T

. ©3GerVITQGILDEN 6TedTLIG FLOLDMET QeuULILIBl6m6v

QSMTETOTL.  L|6T6rTlZ6m6T  @)6metTE @D 85MLIGN60T

CHMHSHEMTGLD.

|| DCFTUMISHET  eTeiTLS 8%  euerlLDstoTL 6V
HBHHIHE06TE Q& Me0oT(H) 66T HMLIEMEOT

eu G606 ©)60)600T8>GLD

e @oha sflwrar alGLUUSMS CSe)

QFUIWe|LD
A) I DL (HILD B) Il LDL_(H@GLD
0) @ mevor(hlLD D) 6T&I6)LD §)6VEMI6V

108. The main objective of nationalisation of bank was
A) Private social welfare  B) Social welfare
C) To earn D) Industries monopoly

amSuiler  CHAWLWLTSESILULL  (WeHEHW
CBM&h&HL0?

A) S6ofIWIMT &eLnas [HeVLD

B) FELNSS [HEVLD

) GU(HEUITUI FFLL

D) @B MiAleb WHmiflemin

109. Where did Indian External Affairs Minister
Sushma Swaraj inaugurate Mango Festival organised by
government of Uttar Pradesh?

A) Tashkent, Uzbekistan

B) Astana, Kazakhstan

C) Bishkek, Kyrgyzstan

D) Madrid, Spain

QBB Qeueme S SN HEDDEFEF] GreqLom
ErUGUTITER gg;g)r,rud]r,r@g)& Lorrﬁleua;sgs
LOMLDLILD eIPITeme 6TThIE SleUmITemeUSSTH?

A) SITOQGHE00TL., 2 6VGILIGH6NG 60T

B) UGVSITEOTT, SHEQT6NVSHT60T

c) NeqQ&8, SIsensmer

D) WL, evQuuledr

110. First & Last Indian Governor General of India
A) Mount Batten B) Rajagopalachari
C) Canning D) Warren Hasting

@BEWwmelledT PG WLHAID HOLE E@HSHU
856).IIj6'0TIJ' QIE360TIT6L UIMT?

A) LD 6BoTL GLIL_L_edT

B) pTeG&smUmeuaFmiilwimy

) Go60flml

D) GUITIET GaUnervIq il

111. The fundamental rights were embodied in the
constitution to ensure

A) Secularism

B) Democratic Government

C) Individual liberty

D) Democracy

ggtiuemL o fleowsar JrFuwsveminliLiley
o aTemL_GoLUL LT  WOHmID  @eng 2 miF
QEF WIS 6OTM6DT.

A) IDGFFTTLI6TemnLN

B) S260TIBITULIS S|J&

O seofIBUT &SHSTLD

D) 8260TBITLLISLD

112.  According to the kinetic theory of matter, the
particles in GASES are
I. Are not close to each other but are spread far apart
from each other
II. Are held in fixed positions

Which of the above statement(s) is/are cotrrect?
A)Ionly B)Ilonly C)Both D) None

Qummefledr  @usEalluley  GoTLLIMLIQedTLIL,
QUMLLENl6L 2_6TT6TT SI6TEH6IT
l. @m@aa@asrr@'r@ G]rj)@ase%mrras @a)a)rrma)

6260T MI GGG 60T M QeUEGSTTLD ul;r @@as@m
II. BlemeLLLITEDT Bleteuas6rtleL @)(HEELD

GLMFaMIWL NEen& U6 (F6T) 6151 &FiflulmeTai?
A oL (LD B Il DL HIGLD
0 @uesor(H)LD D) 67816 LD ©)6V60I6V

113. Civil Disobedience Movement was started with
how many members?

56T 2 MILILNOTIH6eTS:  Q&Meor(h) &Ll
WMILIL] @USHEHD QSTLRISLILL L GI?

A) 72 B) 74 C) 76 D) 78

114. The Cartilage and Bone comes under
connective tissue.
A) Proper connective tissue
B) Supportive connective tissue
C) Dense connective tissue
D) Fluid connective tissue

@@5953@"—0'4 LDH)QJLD eTeILNL -
@eemrILISHS) B!
A) grflwimeot @Gmamruu &
)guemewr Q@ E6oTLIL| Har
0) QL TSFUIMeT @)emevorliL| Har
D) @\7eu @\emevoriL| &&r

115.  Vishnugopan who was defeated by Samudragupta
during his South Indian expedition around 500A.D.
Vishnugopa was a

A) Chola King B) Chalukya King
C) Pallava King D) Maurya King

500 A.D asrrevg,@eu FWHH TG LISFleT Q560TefIHEIL
Lien Qi L Nedr Gumal el61q 60D @S TLIEDT
PSS LITH. 611619 6501 @85 ITLIGHT 6T60TLIRUT?

GFIMLD TFT B) FTEH S TFT
0) LIV6VeU | T&T D) QAT W T&FT
116. The area of right angled triangle is 24 cm? and

one of the sides containing the right angle is 6 cm. The
altitude on the hypotenuse is

QEFBIGHTETT  (LNESCSHMETESSH6T  LITLILIETG| 24
QL  WLHoMID  elevg  CHETEIISH 2 66T
L& &HMmIGETI @TmTendl 6 QF.LS L@ LWD. 6T6vflev
HTOTEF6T 2_LIT6) 6TedT60T?

A) 3.6 B) 4.8 C) 5.2 D) 12
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117. What must be added to each term of the ratio 7:13,
so that the ratio becomes 2:3?

REUGI6UM(D aﬁ]@@@%\% eTedteor  &HHLD
CFIHBMEV, 7:13 2L,60TSI GSLD 2: 3 9L GLD?
A) 4 D)5

B)3 06

118. A sum of Rs. 400 amounts to Rs.441 in 2yr. What

will be its amount, if the rate of interest is increased by

5%r

2 GUIUUILL Q5T ¢b. 400 4601, @60
%_5@61) €h. 441 UEMGI. 6Te0l60 B0 QUL Lq
5% DG HHSMH BT QST
6T6OTEOTEUME @) (H&GLD?
A) 484 B) 560

C) 512 D) 600

119.  If the radius of a circle is increased by 6%, find the
percentage increase in its area?

QM QULLSTT UTD 6% AHSSHHST60, SHeor

uglueTelley 55655 HHSHILIL seoor(hILg &585?

A) 15% B) 8.5% C) 12.36% D) 17%

120. If 12 men can finish a work in 20 days, then find
the number of days required to complete the same

work by 15 men?

12 Q4,600TG6T 20 BTL_G66 (D Geueme (LPIGSBITeV,
3B CUemMEVENUI 15 QLETITE6T (LIG5> GeLETOTLY UL
TBITL_&s6rfledT 6T6v0T600f 18600 86mUL 85600T(HILINIG ?

A) 18 B) 17

C) 16 D) 15

121. 1India celebrated its
15th August 2018?

Independence Day on

2018 QL&6ENVL DTSN 1560 @BHWT ... FEHH T
56015608 Q& MEUOTL_ITI UIGI?

A) 720d B) 65 C) 70t D) 75t
122. Consider the following statements with reference
to Winds.
I. These winds constantly blow in the same direction
throughout the year.

II. They are also called as prevailing winds.

The above statements refets to
A) Planetary winds B) Periodic winds
C) Variable winds D) Local winds

SMHy  GUss  GPludLear  Laen
M &60)8G6M6IT &6160f1LLIMBISHET.

. @\bS asrrmgu () (LLLEISID SICH Hemaguliley
QSTLIHS 655G 60T 60T,

I Smel&eT  &THmIQelefl  smmo  ereor
MPGSLILIOSRMTISHET.

GLMEmMUILIL L M &6 &HGH6T TN SH 5

S EETMEDT?
A) G&HITaTd: STMHmI
Q) LMMILIL L &TMHm

B) S5TELIBI60I6L &5 ITHMI
D) NpCsass:mHmI

123.  Surdas, who was known for his lyrics written in
praise of Krishna, was the disciple of
A) Nimbarka B) Vallabhacharya
C) Mirabai D) Gnanadeva

Smegerormemelll  LSDHGS  UMQUl  LIMLeY
QUfl&ETmeL LISLQLIMM GISTEFT, WMHenl Wl FLij

Qpeumg? . ..
A) BIDUMT&ET B) QUEVEVLIMESTITWIT
Q) LS D) 6B MeoT @ 6UIT

124.  The Indian born physicist who is regarded as the
father of Fibre Optics is
A) S.N.Bose
C) Narinder Kapany

B) C.V.Raman
D) Rao

Qe eaflulwe sShHemg 66T S;BSLILGID
@bswmailey LNmbs @uimLilweomerTy

) S.N.GLIMe B) C.V. [JITLDGOT

O Bilb& T SLiMeo] D) 71T

125. Which of the following Portuguese viceroy
followed the principle of “Blue Water Policy” to
become “The Masters of the Indian Ocean’?

A) Vasco- da-gama

B) Francisco-De-Almeida

C) Alfonsa- De — Albuquerque
D) All of the above

@BSHWILIQLI[HMHBISHL6V LGS UL
GUTIFSHEF WIS e6rfleoT QFLAUTEHENG
o2 MFQFLIW  'Hev BT Q&TETeNS&E"- Ul

S LI 65 CUTTEF&HEFIL emeuenImuil Wmp?
A) QUMENVEEHIT-LIT-&ITLOT
B) LT Me0T 1610 @ &5 T-1q.- VLT
C) {60SBLIMEOTEIVIT- 19.- HEVLQ\BH[EE
D) GLOG6V 2_6ITEIT B{6060TEU(HLD

126. Consider the following statements
1. Article 34 provides for the restriction on fundamental
rights while martial law is in force in any area within the
territory of India.
II. The Civil Rights Act was enacted in the year 1976.

LN60TeU(BLD HM&60&HGH606ME: 8616011 UL MhIgH6T

. 1G) 34 20T, @BH)LI 6TLEDIVEGEIT 6THSEIQUMT(H
LTCHFESIID LI SSHenmE FLLID D6l
@MEHGLEUME QLI 2 [flemngeTr LG meor
&L (DT 60607 GULOMHIGE S,

I 1976 Qb0 hevoTIq60 Flalled 2 MlemngeT &L LD
QuIMMUILIL L G,

Which of the above statement(s) is/are cotrrect?
GLMEnMIWL SIMIG68UN6D 6181 FIfluimeoTas?
A) 1 only B) II only

C) Both D) None

127.  'The oldest largest scale industry in India?

A) Cotton B) Jute C)Steel D) Cement

@& \Wwimeeor LILDEmLOUI 6T WasuQurflul
jemellevmer Q&TLAl6L?

A LSS B FeoTel € @UHLOL] D) FQILD6ToTL.
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128. The matrix of the bone tissue is in the form of
concentric rings called

A) Lacuna
C) Chondrocyte

B) Lamellae
D) None of the above

QFNl6)] eUMETWIMIGETIET 6lgalle0 2 6T6T 6TeVILDL
o\l o] E— 6TEOTMEMLRGEHSLILIGS S

A) GG 60TIT

B) 6UTGILDGLEEL

Q) Gametorl_Grm&L_

D) GLG6v GMILILILLILL L eTg16e|bLdl6vemev

129. Who has been named for 2018 Dr B.C. Roy
National Award as an Eminent Medical Person of the
Year?

A) Dr Anil Mishra

B) Dr Kumar Mangalam
C) Dr B.K. Misra

D) Dr Sathya Priya

2018 LM&LJ N.&.0mL CHEIW 6fl(h S8 2600719607
FIDHS DHSSI6 [BLIT 6T60T 6UPMIGSLILIL L 6T UIT?

A) LITSLIT 26vflev Lolerumm
B) LM&LIJ GLOMY LOMISH6VLD
Q) L& LI1.6ss. e

D) L& F&Wm Lirflwim

130. Wootz steel or Damascus steel, regarded as one of
the wonders of the ancient world, has a characteristic
meandering pattern. ‘Wootz’ is derived from the word
‘Urukh’ which belongs to the language?

A) Sanskrit
C) Prakrit

B) Tamil
D) Ladakhi

QL6 @(BIOL  SjeVEVSI  LLOMEVGEN @ @BLOL,
6TEOTLIGI LIEDOTE0L_ L &ITeL 2_60&60T ) F\&FWimigserfley
RETOMSH  SHOHSULGEME, @B FMULLDEFONS
UL GLF6OT eUMRIGIUETONS]. QUL 67 6T60TM GI& el
"2 (HS' 66T UTTSHMSWINBHE QUMUILIL L &I

6Teotlev, 2181 615G QLMLOIUNeS MBS QLIMLILIL L gi?
A) FLDENVRHSLD B) SLOILD
o Ulpm&\msLd D) VL&

131, Which of the following is related to Article 162
A) Swaran Singh committee
B) Verma Committee
C) Mandal commission
D) Santhanam commission
s 16

L edTeumeueteumnilev o 6T

QML UIGI?

e1sl

A) 6660 Sl G

C) LDGTOTL_6V 2,60)600T LLILD
D) &IH&ITEOTLD ,60)600T LLILD

132.  Which of the following are correctly matched?
1. Amitosis - Direct division
I1. Mitosis - Reduction division
III. Meiosis - Indirect division

Choose the correct option from below
A) I only B) 11 only
C) I and I1I only D) II and III only

Lestaumeusoreummlev 61 FlWIMS QLIMIHHSILD?
1. G T&6 - GBIy Liifley

II. LG THeN - GemnmLiL] Lilfley

Il LDGWIM&6N - LnemmM(L&s Lilifley

g6 @opas Filwumear  aloLews  Cxiey
QFUIWeLD
A1 (DI
Q) I LDMMILD 11 L (HILD

B) Il LDL_(HGLD
D) Il LMMILD 1l DL (HIGLD

133.  Which one of the following was the first Mass
India Movement of Gandhi?
A) Champaran Satyagraha
B) Rowlatt Satyagraha
C) Civil Disobedience Movement
D) Kheda Satyagraha

STHHUWIT WS FPev @BEHUI CUTFTLLLD
@J;GU@P
A) FLDLITET F&SSNIMGGHT&HLD
B) J66VL. FSHMSES TS
O FLL LML @Ul&hssLD
D) CHSIT F&HWHTSHLD

134. Which of the following can be said as a
component of Matter?
A) Light B) Dust C) Sound D) Heat

LedTeumeusoreumnilev LIHLIGILITIHET60T Sn )l 61812

A) 6] B) HTH Q) 6260 D) GQeULILLD

135. The first bus service between which Indian state
and Nepal was flagged off on 11th September 20182
A) Jammu and Kashmir ~ B) Arunachal Pradesh
C) Bihar D) Assam

2018 QEFIJG]I_LDUU 11 Je0Tml 6@5 LOMBl6V
STHHGID CHUTMSH NS NSV Liey CFemnel
Qg;rn_rmasuul_@mmgp
A) LD LOHMILD STeig LT
B) 9| (Hevormag6v LITCHELD
o Uissmy
D)c°).|8:FrLb

136. A hollow cylinder made of wood has thickness 1
cm while its external radius is 3cm. If the height of the
cylinder is 8cm, then find the volume

1 Q&8  HQWET  G&TeTL ISl Tey
QEFWIWILILL L @ _(BemeTWImeoTs, Qalaﬂuum QLT 3

QFLS 2 el Wl o (HemeTuledr 2 Wy 8 cm
6T6OTMITV, 6'6T6'()‘I'Ij' 95607 55601616
HeooT(HILILY. 582

A) 125.7cm? B) 128.3cm’

C) 124cm? D) 130 cm?
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137. In what ratio must a grocer mix two types of Rice
costing Rs.7.50 per kg and Rs.10 per kg respectively, so
as to get mixture worth Rs.8.25 per kg?

2@ HCMeIMGS €b 8.25 LOFILILIETET SH606M6UEMIILI
QUOIISDH&ETS, R Uovgrsg allwmumfl ebs
AFRHEH 60 HCIT €. 7.50 WMMID HECEIT em. 10
2 6t | flFleml S6058 Gaustor(hLD?

A) 4:3 B) 7:3 0 8:3 D) 2:5
138. If A: B=3:4, B: C=8:10 and C: D=15:17 then find
A:B: C: D?

A: B=3:4, B: C=8:10 LOMMILD C: D=15:17 &T60fl6v, A: B: C: D
LOGILIL| B5T600TEH?
A) 9:12:15:17

C) 3:4:5:8

B) 9:13:15:17
D) 7:9:12:15

139. What will be the difference between total surface
area and curved surface area of a hemisphere having 4
cm diameter?

4 Q&5 il LD Q& MeToTL. 62(H HeDTE:CHTemg ST
urLlest GhUTIL UFLILeTe] LDMHMID eI6D6THS

Gumurly  @enLulley  26Ter  GeumLn(
6T60T6E0TEUME @) (H&GLD?

A) 21 sq cm B) 3n sq cm

C) msqcm D) 4n sq cm

140. If in certain code ‘BRIGHT’ is written as
‘CSJHIU’, then how will PUNTER’ be written in that
language?

Flev GOILIH Gmdlserfley BRIGHT 6T6TLIGI 'CSIHIU

6160  6M(WSLILILLMEY, 'PUNTER  6TLILIG B
Quordlulev ersLILI(HILD?

A) QVOUSF B) QOVFUS

C) QVOFUS D) QVOUFS

141. Consider the following statements:

1. P2 or the type-2 strain of the wild poliovirus was
eradicated in India in 2014.

II. In 2016, India stopped administering the Trivalent
Oral Polio Vaccine and replaced it with the bivalent
vaccine that does not contain any live attenuated P2
strain.

Which of the statements given above is/are correct?

A) I only B) II only

C) Both I and II D) Neither I nor 11

LN60TEU(BLD HM1E>60) 856006185 861601 1L hISH6T:

L P2 9leveugl GUMellemeuTeiledT Uens-2 aUeds

@B&Wwmeailev 2014 @60 HSHMMLILILL GI.

Il. 20166V, epeTml eumileudl GUMEICWT HHILILLS
WhGIsSener LWeTLhSSeleng  GhSWT
0D5H AsHG LHers I 2 sOULS

@UHHTEHSHeM60T eLNEVLD LOMMHMUILIL L &I

GG Q&EMHSGSIULL Insamsuiley 618l
Frflwimera?
A) 1 DL (LD
O I LDMMILD II

B) Il DL_(HGLD
D) | 6LEVI Il @T60oT(HILD &)6LEMEV

142. Which of the following article contains Gandhian

Principle to organise village panchayat?
A) Article 39 B) Article 37
C) Article 40 D) Article 34

Heteuld b alGHulley SImn  LEpFTWUSS!
gHUTH QFUIWL STHHII Q18 TeTemHE6T 2_6T6Te0r?
A) 1) 39 B) e1I&) 37
Q) a1B) 40 D) 115 34

143. Prime Minister crop insurance scheme was

launched in?

Urgso  weddfl  uully  smilfl@G Sl
AV PSLILGSSUILLL 25600102

A) 18 feb, 2016
C) 20 feb, 2016

B) 19 feb, 2016
D) 21 feb, 2016

144. Consider the following Assertion and Reason.

Assertion (A): Some small gap is usually left in railway
tracks.

Reason (R): During summer, more heat causes
expansion in tracks hence to avoid collision, gap is left.

Choose the correct option from below:

A) Both A and R are correct and R is the correct
explanation of A.

B) Both A and R are correct and R is NOT the correct
explanation of A.

C) A is correct and R is wrong,.

D) A is wrong and R is correct.

NeTeu@ld  Fmmo  WMHMID

8616011 RIS 6.

Faihml A): Feov Tl GenLGelefl aIpsHSHLIOTS
gullev HLmigerleb el L.

SMIeTD (R GHMEOL  &HMVSH), NS
QaILILISHTE, SHLMIG6TI UL (h 2 65Tl ME&LD
Gmsenen Salliss @6l Qeust il LILG&E M.

SITIT600TE 60055

e @uha sflwnar  elloLenws CsHiey
QEFLWLIQYLD:
A A LDOHDID R WEHW @IeorHID Fiflwimereney,
LDmQJLD R A @607 &Fifluiment ellemg:asln

) A LDMHMILD R QS @ Tetor(d Fiflulmgs 2 6Termen,
(3LD@1IED A. 3, Fiflwimeor allem&: &L @)6uemey
O) A FIAIWLIMETSI, R HEUMTEOTSI.
D) A Saum), R &Fifl

145. Monolithic Rathas are found at

A) Mamallapuram
B) Ellora

C) Ajanta

D) Sithanavasal

RMENMEHEEMEY 60T
85M600T LILI(H 60T 0T ?
A) LOITLOGVEVLTLD
B) 6TELGEVITIT
O ABDDHIT .
D) &5 5 60T60TeU M6V

& BIG6T 6THRIG
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146. In which of the following treaty, Pondicherry was
returned to the French?
A) Treaty of Pondicherry
B) Treaty of Paris
C) Treaty of Mysore
D) Treaty of Carnatic

LfeoTeu(heveoTel DMl 6TH S LILIBHSHH T
g LiLienL_uilev, Limegorq &G&f] rer&a6
S Bl 55817

A) LIM600TLq &G Tf] eLILIB&LD
B) urriflen eliLBSLD

Q) MG 2_L60TLIL H60 5
D) &JBMTL& LGS

147. Which of the following is a type(s) of
Precipitation?
1. Drizzle 11. Rain I11. Sleet 1V. Hail

BRI eUMESHETl) 6THE QUeMS (S6T) 6T6TLIS
eTMIULD Blemsu?

. SITT6V

1. QLEVRISGL_L] LOGDILD

II. LO6MLD
IV. GUITLD

Choose the correct option from below

8Cp @@oha sflwrar alGUUSMS CSey
Q&FWIWe|LD

A) I, IT and 11T only

O) I, 1T and IV only

B) I1, 111 and IV only
D) I, I, 11 and IV

148. Stem cells are used in the treatment of certain
diseases. In present days, blood is collected
at the time of child birth and is being stored in stem cell
banks to treat any diseases in the future
A) Stomach B) Heart
C) Umblical cord D) None of the above

Flev  CEHMTUSEDESTT  FIEFmauled  eVGLLD

QFLE6IT LwetT (RS LILIHE 60T meoT.
SOHCUMeNSW Bl sefley, Gwbens Lnbs
GBISHH L Qusshd  GEsNl&ESULLED),
TH &MV T 6V 6TH S CBITUISHEDETUILD
R FnFweflEg: ML QFe  eumGH &6t
(=00 F: MBI R

A) Uil B) @& LILD

0) QBTLILIET Q&ITLY D) 61816 LD @)6VEmI6V

149. Sinjar mountains,
mountain range found in
A) Afghanistan  B) Iran

recently in the news, is a
C) Iraq D) Turkey

FlLSH QFLGGefe, STl L. SleTgmy

LDEDIGLESG6IT GTTRIGHETETSI?
A) QU185 Mevf16M) & medT B) FFIJITE0T
C) TOmg D) &I(HEH

150. Name the person who resigned as the President of
International Criminal Police Organization (Interpol),
on 7thOctober 2018?

A) Kim Jong Yang
C) Ian Hoffman

B) Meng Hongwet
D) Victor Stanley

FOUSTHL, 7 HHCLMTUT 201860  FHaICSHTF
Gomailwey Cumedeny jemLoLiL] (@)esorLFGLIM6)
FHenevall LIsaIulley @b eNlevE ey UIM?

A) I QMMHI WM

B) QLM Gl

C) @)Wleor a_rrjrroou@mafr
D) & L[J 6VL_medT6dl

151.  Foreign investment includes -----------

QeuefIBTL® (WEHESH) ------------- 2 6T &HNIS
A) FDI B) FPI & FFI
C) FDI & FPI D) FDI & FF1

152.  Which of the following organs comes under the
sensory systemr
I. Eyes  II. Nose I11. Ears IV. Skin
Choose the correct option from below
A) I, II and 11T only B) II, IIT and IV only

C) L I and IV only D) L, 11, IIT and IV

Neteuld 2 mili&efley etal 2_OTIFS
LIS S 2 L LBOSHMSI?
. &H600T  I.eNEHG Il HMSIHET  IV.GSHIMTeL

GG Qobha sflwmear  ellLeaws  CHiey
G]&U.IU.IG).]LD
A I, 11 LOHMID 1 oL (HID

) 11, 111 LDDAILD IV DL (HIELD

O 1, Il DOMILD IV DL (HIGLD

)| I, Il LDHMILD IV

153. Justice Party became the ruling party in the year?

BHE &L 6hEH eoorqel SEHD SLGIWITS
rmlwg?
A) 1920 B) 1921

C) 1922 D) 1923

154. Pick out the
Fundamental Duties.
A) To respect National Flag and National Anthem
B) To defend the country and render national service
when called upon
C) To vote in the state and central elections
D) To safeguard public property and to abjure violence

incorrect one regarding the

QLI SLEDGETL  LHMl  Seumieor
2 6TeTend CHIHOSDH!:

A) GEHW Q&MY LHMID CHHW BHHnS L0565
(86)J656r®Lb
B) BITLIQET LMSISMHSD DHMID  SemioLiL]
GLING BHFWI GFene 6ULLMmIGE)|D Celetor(hILD
O WmBlew  WLOHOID WEHW  CHIHS6TI6
QUMTE:5561T18:85 Geuevor(HILD
D) QUTEIF QFMEHESIGESHMET LTSISTLULSNESLID
QUEIT(LNED M B>6M6TE 60866 LD Gaustor(hLD

Free Online Courses @ www.tnpsc.academy/all-courses/

Video Classes @ YouTube/tnpscacademy



www.TNPSC.Academy

Group 2 & 2A - 2019 Test Series | Test 31 — Mock Test 1

Page |12

155. The Agalega Islands is under the sovereign control
of
A) Maldives
C) Mauritius

B) France
D) Seychelles

IHCET BSOS 6THS THT B
2 6Tengl?
A) LDV &S 6)| 61T

B) Ly medTeny
o Quomfladluieh

D) FQ69606

156. Find the total surface area of a pyramid having a
slant height of 8cm and a base which is a square of a
side 4 cm?

4 QFLS LSS 2 MU @@ FHTLD gg,,ecrgj 8 cm
gmleumer 2 wrld  @Q&meorl  Ulgdielleor

S LILGH WS 2 6TeNgl. FH60T GLMGHS LITLIL
&H600TL
A) 64 B) 84 C) 80 D) 72

157.  What will be simple interest for 1 yr and 4 months
on a sum of Rs.25800 at the rate of 14% per annum?

2b,600T(H) RETWIMNE 14% 61601 NBSSHS6L erpLIMLL

2,5800 Qg)rremasas 1 ED_I(I'IjI_LD HmID 4
LOM&H MG EHHE 60T GUL_L]. 6T60T60T?
A) 4816 B) 2580 C) 4224 D) 4815

158. A boy walking at a speed of 20km/h reaches his
school 30 min late. Next time he increases his speed by
4 km/h but still he is late by 10 min. Find the distance
of school from his house?

20 GBS / eoofl CeusESHev (5 FMIEUET BLIHS! 30
PIOILBIGET  STOSLOMS — Heotgl  LsTerluley
SAOLEDTET.  AOSS (POD AU S60Id
Causgeng 4 SIS / eoollGBHIL HBSHSHSH M,
Speormevild 10 MILKILID  STNGIMS  LiaTertl &
QUMPMTT.  eefley, eurs il 1960 mbs
Liemerflufledr &b &evor(hLilg &2

A)60km  B)50km

C) 40 km D) 25 km

159. A certain sum becomes 3 fold at 4% annual rate of
interest. At what rate, it will become 6 fold?

20 GUULLL QOF5TSWTEOS bh60h6HE 4%

QUL g 6)31@55 60 3 LOL_MIGME bGU|6Terg. 616016

6TH S TP HE5H6V, 2(F 6 LOL_BISHTGLD?

A) 13% B) 12% 0 10% D) 9%
160. What is 5% of 50% of 500?

500 6V 50% 60T 5% 6T60T60T?

A) 35 B) 125 C)1.25 D) 6.25

161. Name the first woman Secretary General of the
Lok Sabha who has received one year extension from
December 1, 2018 up to November 30, 20197
A) Poornima Reddy B) Snehlata Shrivastava
C) Ajitha Das D) Praneetha Roy

[Q&LDUT 1, 2018 (LD&HEV [BEULDLIT 30, 2019 GUEMIT 62(H
abevor(h BLIgLIL] QUM Geurmds FUmelledT (LN&H6V
QLI60OT QIFWIGVLITETT &HEM6VEUT WIT?

A) LLJeoILOT QITLLq.
B) 61U GEUTEMEVSIT Lofeleru g6l
Q) LB ST6NV

D) LIIJedt &I il

162. Which of the following is NOT a literature of
Third (Last) Sangam?
A) Ettuthogai
B) Pathuppattu
C) Pathinenkeezh Kanakku
D) Tolkappiam
LNeTeupeueoteumniley  61&1  CLOGTMITLD  (S60L&)
&rEJaaL'D @)LEGEHILILD @)6Lem6V?
A T (DSOS T
B) ug@uum_(a
Q) LG Georeor & L$asaseo‘cr55@5
D) QB MVGTL

163. Standard Essential Patents or SEPs are patents that
are related to
A) Communication technologies
B) Pharmaceuticals
C) Emission control technologies
D) Defence industties

SILOMET S LML (N&HHW SHTLILFlemLn 2j6V6evg)
SEP 2 L60T QML STLLflemngseT @)ge6or
QB TLJLIMeOTSI

A) QSTLILILSSINM QST HIL LIMIG6T

B) LD(BHIHSI 6T

O & S GILIUTE (B QST BIL LIMkIG6T

D) LIMSISMLILIGS QS TLOleVEI6mMSH6T

164. Match the following boundaries of Indian Ocean.

Boundary Direction
a. Asia - 1. West
b. Africa - 2. South
c. Australia - 3. North
d. Antarctica - 4. East

@r_r)@m QUIHMEISL606T LI6TEUHLD 6T6VEMEVEEMI6T

U

6T6VEMIEV o oka

a. QLG - 1. QLM
b. UINGSET- 2. QsMH&
c. LEVFHCIEIWIT - 3. QL &GS
d. QEOOTLITIIQ&IT - 4. HILOES

Choose the correct option from below

e @uha sflwrer ELUUSMS CHe)

Q&FWIWeLD

a b c d
A) 4 2 1 3
B) 3 2 4 1
C 4 3 1 2
D) 3 1 4 2
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168. The

165. A cricket player while catching a ball lowers his
hand in the direction of the ball. This is an example of
A) Newton’s First Law

B) Newton’s Second Law

C) Newton’s third Law

D) None of the above

Ubeng Lg&EGh Cunal e Sflacsl effy
LBensd  eUHLD FUND  FHOTE NG
QUEIGHDTT. @& - ©)60T 2_FTeuoTLD
ﬂuigl_l_asﬂwr W56 G
d]ﬁ]gl_l_ 60T @)\ JevorL_Meugl eilG)
) Bl L eofledT eLpetTmimeu g eliG
D) GG GMILILILLILL L 6Tgl6Lh @)6V6m6v

166. Who SpaceX launched India’s first privately built
satellite along with 63 other satellite from 18
countries from California, USA, on 3rd December
2018»

2018 Q&L 3 Serml,  eflEsmelleor
&60ls@UTTelwmelleli®hg 18 BM(H &6 @\mhe!
63  LDMM @&memas@asrrmas@b‘l_wr CFImHS!
@Bb&\Wwimeaileor (LNG6Y 56015560l WIS
2 (HEUMSHSHLILL L QEFWIMEN 88 ECHMem 6T
@ &etreLneuld eflevorQlelefle@ QFaISSLILIL L Gi?

A) ExseedSAT 1
C) Xplorer 2

B) KalamSat 1
D) RainSat 3

167. The introduction of No confidence motion in the
Lok Sabha requires the support of at least

A) 50 members B) 40 members

C) 30 members D) 60 members

Geurmds Fumellev BN emasUNeveuTs
SL0meoTdEeneor SDWPSLILOSS
@@mmgul_&m 6T5560’)60T GUT ©L&T6e| CHemer?

A) 50 2_MILILN6oT T &R 6T B) 40 2_miLILNeoTT 85 6iT

c 30 2 mILILSeoT IS 6T D 60 2_mILILS 6T & 6T

acid in stomach kills the bactetia
swallowed along with food and makes the medium
acidic.

A) Hydrochloric acid
C) Nitric acid

B) Sulphuric acid
D) Citric acid

auuilmnilev 2_eiter Sjblevld 2 6uoTe)L 6T CFIS S
RS unsleflumme Q&merm  LmHmID
BOSST SASVHMS 2 HAUTHSHME!.

A) e Crm&GeTmifle judleuid

B) FeuLyfl& <dlevld

0 emBLiflg odleud

D) FL_iflg gLdlevld

169. Kunwar Singh & Amar Singh lead the revolt in

A) Lahore  B) Bihar C) Kanpur D) Satara

SHeTely FIml & LT Sl HenevemnnCUIMM 6THIG
&H6V5L0 [HEOLQLIMMEI?
B) Y&y

A) QUITFR L] Q) HMeOTLL D) F&TIIT

170. Which of the following statement(s) is/are correct?

I. Mantle comprises of 83% of Earth’s volume.
II. The average density of the core is 3 g/cm?2

LedTeuLd SimMlg6m8s (ase;iT) 615l SIflumeoTa?

L LeNGWITLmeoral  83% WIedT  &H60136mem 6L
Q& mevoT(h)6iTarT:

. @mmuu@%uﬁ]w Fynsfl QLISH 3 SFmD /
Q&F L Q@G LD.

Choose the correct option from below

8C @obha FHlwmor GUUSMHS CHT6
QFWIWeLD

A) I only B) Il only C) Both D) None

171. Consider the following statements about Sahitya

Academy Award

I. The Sahitya Academy Awardis a literary honor in
India, which the Sahitya Akademi, India’s National
Academy of Letters, annually confers.

II. It is awarded for the books published in any of the
major Indian languages except English.

II1. The first award was awarded pre independence.

FTRSHW SETAL alpa &MSES LlaTaumn
M FHEN M6 &6U60f U MHIGH6T

L FTESHW smidl allpg @bSuwimeie
QESHIL  Q&ETIITGW, @& @bHSW 60T
CaxHW &Ll @bl Geul el FTHSSIW
3IGmLLdl eLpGULD 2,600T(H GG TMILD
QULOBISLLGSE S

I wm&en  gelly ebhs Uil GhHuw
Quordlaeflenn Qeueflul_ LUl L LS 55MmISEHHE
@8 upnSUILGSDS.
. wss  lmal
QULOMIGSLILIL LS.

&ESHHISHOES  LPeoT

Which of the above statements is/are incorrect?
GLMEnMIWL SINIIGEUN 6181 HaUmTeTgI?
A) Tonly B)II only

C) Il only D) II and 111

172.  Who among the following can dissolve Rajya

Sabha?
A) Prime Minister
C) Vice-President

B) President
D) None of these

LNeTeupeueoteumniley WMy JMRW  FUMeme

asegeuésasev(ré?lﬂ

A WISLD Lofh

B) 60T THILIG)

C) SIEME00TS GHEMEVEUT

D) @eumnilev 61516 ELD @)6V6m6V

173. Kidney is an important excretory organ. Some of

the excretory organs other than kidney is/are
I. Skin II. Lungs III. Heart

Choose the correct option from below
A) I and II only B) I and III only
C) II and 111 only D) I, II and III
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Fobrs %qb WSS SPlQLICLITHET 2 mILiL
G, FoBIssmses sl Cum  He
S0 IQUIMBHET 2 MILIL|S6IT WTeney?

1. G IMev Il. BlemTuyev lIl. @& WD

e @uha sflwner  ellLenwd  Csiey
@ELUU_IG)_]LD
A) | LDDOILD 11 L (HILD
B) I LDMMILD 111 DL (HIGLD
Q) Il LoMMILD 11 L (HIGLD

D) I, Il LDMMILD 1l

174. Vellore mutiny took place in
GougTJ HEV&LD BLHS QUIHLLD L60TSH

A) 1805 B)1815  C)1806 D) 1817

175. 'The melting point of diamond is
A) 0 degree Celsius
B) 100 degree Celsius
C) 1570 degree Celsius
D) 3550 degree Celsius

Gme;ur,rg)@m 2_(HGSLD L6l
A) 0 Q&R QF %\
B) 100 l9.G\f] Qs:a)@u_lem
0) 1570 1.5l QFeLF W6
D) 3550 L9 G If] Q&F6LEWLIEN
176. PQR __

RS_RS__S_Q_

B) PPRRPPQ
D) SQPRRQR

A) SPQPPRR
C) SQPPQPR

177. Find the compound interest on Rs.31250 at 16%
p-a compounded quarterly for 9 months

STEVITETOTIA6) 9 LOMGBIGHET 55|_®®m 2L600T(H &S
16% 6T6e0T NHRHEHH 6D €. 31250 &G Fnl_(h QUL L]
6TeUREITEY?
A) 4000 B) 3902 C) 3500 D) 4200

178. 1If ‘FLARE’ is coded as 21, 15, 26,9,22 then how

would ‘BRIEF’ be coded in the same language?

FLARE' 6T60TLIG () GMILLIL L &miGss GLomigluiley
21, 15, 26,922 67607 GMIUNL_LILIL LTV, 'BRIEF' 6T60TLI
g(ﬁgp QOTLBlUN6L eTeuEUT M) @gﬁ]uﬁll_ul_@m?

A) 25,9.22.21,18
C) 13,19,11,37,5

B) 5,37,11,19, 13
D) 25,9,22,18,21

179. 20 men can cut 30 trees in 4 hrs. If 4 men leave the
job, how many trees will be cut in 12 hrs?

4 6ol GBOSHED 20 p600TEET  G&MTEoT(h 30
LOJTAISE6T QUL (PIQUILD. @FIV, 4 2WE00TE:6T
GoueneuemiLl el (HIENL LTV, 6THEHE060T LONTBIGE 12
Lnewofl GBISHEL QeUL 1] (LOLESLILIRILD?

A) 72 B) 80

C) 68 D) 79

180. 'The difference between the Cost Price and Selling
price of an article is Rs.240. If the profit is 20% the
selling price is

@M Qummefler Q&mETLNG allemey  LMMID
eflmueme ailemey eu&lwleummler ellSSMELD b
240 @D, SLCUITGETI6r GeVTLD  20%  eTeor
@BHSTeL 2G0T i afleney 6TedTe0r?

A) 1400 B) 1200 C) 1240 D) 1440
181.  Which of the following statements are correct with
respect to citizenship bill 2016
I. Grants citizenship status based on religion to illegal
immigrants
II. Seeks to cancel registration of OCI cardholders for

violation of any law

Gluufleong s 2016 e LleTeu@pid
SIMGEMSHE6IT eTemel & iflUImeTemnal?
. FLLEHDS L|mLDLITeoT

G4 BWMMESTITHEBRESHE DS HLGLILIenL Ulevmeor
&9 WflemLd Blemeuemil euLpmIG 6D

. FLLGMS SIS MHE TS ocl
SLemLsTrrsefler LUFesHemneT 55 &l

(WDWOHIMSI

Select the correct answer

Fiflwmer LUSHemevs CHIHOSHH S8

A) I only
C) Both I & 11

B) II only
D) None

182. Open split in the congress occurred in the session
held at

A) Surat B) Karachi
C) Belgaum D) Madras
asrrréjﬁal;rdv ey gmUBGGH W LOTHTH?
A) G5 B) S MEG
0) GILIGL&LD D) Q& 60T60)60T

183.  Consider the following statements with respect to
the power of the President of India.
I. He can summons and prorogues either House of the
Parliament.
II. He can dissolve the Lok Sabha.
III. He can dissolve the Rajya Sabha.

QBeW aTTHUGuUlar RS TTSNSL
QuUTMISHaIemTUIeL Lletaumld  3in)l&emaaHemnerT
861601 || MBIG6T.

L SleUl UMITEBLOETD S6MEUSHET @) T600Tenl WD
oL L6VITLD LOMMILD S6iTerflemnendsas (DLGULD.

Il Sjeuf GouTa: FLIMEDIE FH60I6088 (LOIGULD.

lIl. QJQUT TR FLIMeMEU HE0I6V885 (LOLQ UJLD.

Choose the correct option from below

&G @Obhg Fiwmar AELUUSHS CHT6
QFUIWeLD:

A) Iand II only
C) I and I1I only

B) II and 111 only
D) I, IT and I1I
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184. A strain of Pseudomonas bacteria is developed as a | 189. Justice Amitava Roy committee recently seen in

superbug for news is constituted for the purpose of
A) Mapping DNA B) Rh factor A) Resolution of stressed assets of Public Sector Banks
C) Clearing oil spills D) as super bacters B) Dealing with Sexual harassment at workplace

C) Reforms in tax laws

G&GLTGLmerey Lnslefluneler em Sl e D) Prison Reforms
GLILT QU6TITL T8 615 D&ME 2 (HeumssLILLL &)

A) GLOLILIMI g 6Te0Ter FLSHO QFLSSH60 SmeorliLl L BHUS)
B) Rh &TT600f] . . S| Smel Tl SO 19 ufleor 6TeBT60T
O) 6TETOT G0N Sl 8>S SH60 CHMHESHMEHTH SeMDSESLILILL GI?
D) @GUILIT UMSLefiimsaeT g% QUTEISSID UmIGS6TT 6&Tshgisaele0r
[FLOMT6OTLD

185. By which clouds thunderstorms are produced? B) UenoflWILGHev  LMedluley  SHIedTL|MIGEH60
A) Cumulus B) Stratus ey TeTeUEl6L 60 BB B
C) Cumulo nimbus D) Nimbus 08 @gm%@@(% shaar

gﬁa (85?35@60‘[ EPGVLD GIGUIL 6T EnlqW OGO | 190, At the top of Mt. Everest the air pressure is
A) @6)%1]4(8L685Lb B) LIGOL (LNE60 A) One-fourth the pressure at sea level
Q) HI6T SISV D) LD6MLALT LIGML_(LNER6L B) One-third the pressure at sea level
C) One-sixth the pressure at sea level

186. Consider the following statements about D) One-twelfth the pressure at sea level

Lymphatic filariasis

I. It is a viral disease transmitted to humans through GFG)_IQUG?UI'_ LDEMSV LSS STHMI WSS eTelauTmI

mosquitoes. &Gﬂ'm@'g

IL. It can lead to contraction of body parts in children. A) &6V DL L_&5)6V BITer860 6(hH u@@ g@g;g;m

III. Over 40% of worldwide cases are found in India. B) SL60 LOL_L_S5H)6V eLN6OTIIEL 62(1H LIMIE H(WDSHHLD
Q) &L60 DL L S560 24,1160 62(h LIBIG SH(WHSHL0

BeoBis  @wrisoer’  umn  eeumn D) &LV LOLLGHHeEL L6oTeollTeooriqed @@ LMG

SIMNGHENGHGHENET G660t LM S6T SIWHSD

. @& Q&HMEFESETTE NflEIHER&EEG LT 6(hH ) )

606U TN GBMTUMGLD. 191.  Consider the following statements.

Il Q& @5@[660’)58561’1:]61) 9 |6V LIMSHMIGHET S (H&H&HLD I. Indian National Congress formed ministries in major

gOUL6UTD. o L ) . provinces in the elections that was held based on

. @LF,@U_IITG)E]G}) 40% HGLD COMLLL 6UPSESH6T Government of India Act 1935.

SeorLILGEIsTe. II. Jinnah celebrated the resignation of Congress

Which of the above statements is/are correct? ministers in 1939 as the day of Deliverence.

G &Ml HM&enaUleL 6181 FflWwimeng?
DDl i) & &7l S Which of the above statement(s) is/are correct?

A)LII  B)ILII C)lllonly  D)III A)lonly  B)Ilonly C)Both D) None

LN etTeuBLD 21m18:60) 858561618 8561 60f1U|MIG6T

187. Identify the advantages of Rural Roads. 1935 QBHILI TR F1 LSS 241q U ILenL_ufed

A) Rural marketing B) Rural employment BEOLGLIMM CHIFHELEH6M60 LN\y&smeor
C) Rural development D) All the above L& TeohIGaley @BHW CHAW  SrHIG Ferdledr
L&) SMDESLILILL . _ ‘ ‘
|;r55 FreneWIl6oT LILIGTUITL M SHMSLILIGI6USI? I gSleOTeOnT 1939 QD Qwetor(h)  SMEIGIT6n
6T IIBIGHTI QUFS) slengarsefler  greglermommel  el(HSen6V
@fmema)fmrrmuu B OTLOME G\ IT6TOTL_ITLQ 6OTITT
265 QUATTES ) _ o
D) ©)6M6U DTS SILD GLM&nmlw A& UTlED @6l 6181 FlwimeTg?
Al Lm_@LD ) B) Il LDL@(SLD.
188. The smallest living cell is O) @ uetorT(hLD D) 6T&I6)LD G)6VEmI6V
A) Bacterium B) Bread mold . . . .
: 192. “Service to Poor is Service to God” — This
C) Mycoplasma D) Virus .
statement was said by?
W& Arlw 2 ulgem A) Vivekananda B) Periyar
A ursefluh C) Ramakrishna Paramahamsar D) Vallalar
B) QUITL_L). &5 LLEHeOF . . .
0) 6MLDECETLIGTTENVLOMT "FJONHEBHE CFemeU  CFWaIG!  HL|EBHS
D) 6DGUTEN Cremel CUTETME" - @QBS AMIGHENS WITFTeV
FamULLLgI?
A) N GoUSTETH ST
B) Quflwmy
C) @M ([HEIQ60TT LITLOQMLDET
D) QUGTEITEVITIT
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193. Consider the following Assertion and Reason.
Assertion (A): The coniferous plants usually have a
three dimensional pyramidal shape.

Reason (R): This pyramidal shape allows all the
branches to receive more sunlight.

Choose the correct option from below:

A) Both A and R are correct and R is the correct
explanation of A.

B) Both A and R are correct and R is not the correct
explanation of A.

C) A is correct and R is wrong,.

D) A is wrong and R is correct.

et Famm  WHmID  STJ&HenS55
86160f1LL| IS 6.
Sam (A 2ar@uileney SHTeUTMBIGET GLIMSIEITS

eLpeoTmy LIflDmesor LIl eL_&:8alDL[H 6ULG6UHMNS S
(6185 T600T LY. (H 865 60T M0,

SMIeoIld  (R): @B ULOL&ESDL 6UlgelDd
NSS! BemensEbld Gl eefl QU
SADIDHEH DI,

&6 @mha sflwner  ellLenws  CHiey
®£FU_JU_16)_|IJ3
A A DOOID R W @reorHiD FHlwmerene,
mmgum R A @601 Ffluimeot eNl6mg&LDn

) A LDHMILD R Q&N @UesoT(HID FHWITg 2 6Termeo,
(Smgum A. b, Fiflwimeor ellend: &L @)6V6m6V

Q) A FIflLIMEOTS), R S6UMITEOTS.
D) A aumi, R &Fifl

194. Match the following
a. Rowlatt Act - 1. Ramsay Mc Donald
b. Individual Satyagraha - 2. Ambedkar & Gandhi
c. Poona Pact - 3. Vinoba Bhave
d. Communal Award - 4. Satyapal

LetTeueuengLi GQLIMHSSIs:
a. QeTeLL_ &FL_L LD
- 1. gJmMDGE QDG GIL_TEOTITEVL
b. HeofIBLIT FEHIMSHSR TSHLD
- 2. 9IDCUSST & HTHE)
c. LLEOTIT @LILBSLID - 3. ellGeormummGeu
d. QUGLILIGUMSH Q& MemL
- 4. FHWILIMT6V

Choose the correct code

e @uha sflwrer AlELUUSMS Cse)

Q&FWLIWeLD

a b c d
A 1 2 3 4
B) 1 2 4 3
C 4 3 2 1
D) 4 3 1 2

195. Who is the guardian of the public purse in India?
A) Comptroller and Auditor General
B) Reserve Bank of India
C) State Bank of India
D) Ministry of Finance

@BSWIMeleL QLIMG! LIGOoTLIEnLINW LIMSISTLILIGUTT
U_IITIj?
A) S60I6VEMLD B>600T8> (G &600T1860)8 W6
B) @bGILI fl&Tel eumiG)
Q) SVGLL LIMmIg QL1 @hSWIT
D) H15) SMLDEFFSHLD

196. What is the greatest number that divides 13850
and 17030 leaves a remainder 17?

17 8 WOSLOMSE Q&Meoor(h 13850 LOMMILD 17030 831
UG EEHHF LW OGS LIGILIFlWL 6Tevor WIMGI?
A) 477 B) 159

C) 107 D) 87

197. 1If 26D + 26+D=32(0, then find the value of x?
200 4 26+9=320 66016V x 60T LOGLIL| FH600T(HILINNG ?

A) 6 B) 8 C)7 D)5

198. The HCF and LCM of two natural numbers are 12

and 72, respectively. What is the difference between the
two numbers, if one number is 24?

%UGGOT@ @Quiey eretorgefledT LSQUIT.El  LOMMILD
&0 WenMEW 12 LDMMILD 72 HYEGLD. HD6V, B
6T600T 24 6TEOT @)(BIHSMTEY, @)T600T(h  6TE00TSHEHEH S
@emL_UN6L 2_6TerT eIlGSHUITEFLD 6T60T60T?

A) 12 B) 18

C) 21 D) 24

199. If 16 X 802=2m then m is equal to
16 X 80+2=2m 6Tenflev, m GTHME FLOLOMTEH @) (H&HGSLD?

A) n+8 B)20+10 C)3n+2 D) 3n+10

200. How many multiples of 9 are there between 34 and
2357

34 DMMID 235 @eMLGUI 2 6TeT 960T LOL_MBIGHEH6T
6T S 60)60T?

A) 23 B) 22 C) 24 D) 25
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